Transfers Report

This report contains the transfers results.

Contest Name	Ward 4 - Clarkston Netherlee and Williamwood
Valid Votes	9,812
Positions to be Filled	4
Quota	1,963

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Kate CAMPBELL	Scottish Conservative and Unionist	1,692
Gerald EDWARDS	Scottish Conservative and Unionist	622
Annette IRELAND	Scottish National Party (SNP)	2,119
Gordon KEENAN	Scottish Green Party	717
David MACDONALD	Independent	1,407
David Tam MCDONALD	Scottish National Party (SNP)	724
Stewart MILLER	Independent	624
Katie Victoria PRAGNELL	Labour and Co-operative Party	1,647
Daphne VLASTARI	Scottish Liberal Democrats	203
Colette WALKER	Independence for Scotland Party	57
	Total	9,812

Candidate Annette IRELAND Elected with 2,119 votes, being in excess of the quota of 1,963

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Annette IRELAND

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon KEENAN	269	0.07361	19.80109
Transfer to David MACDONALD	112	0.07361	8.24432
Transfer to David Tam MCDONALD	1,551	0.07361	114.16911
Transfer to Stewart MILLER	27	0.07361	1.98747
Transfer to Katie Victoria PRAGNELL	95	0.07361	6.99295
No further preference	39	0.07361	2.87079
Not transferred due to rounding			0.02041
	Total		156.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Colette WALKER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kate CAMPBELL	2	1.00000	2.00000
Transfer to Gordon KEENAN	8	1.00000	8.00000
Transfer to David MACDONALD	10	1.00000	10.00000
Transfer to David Tam MCDONALD	14	1.00000	14.00000
Transfer to Stewart MILLER	8	1.00000	8.00000
Transfer to Katie Victoria PRAGNELL	3	1.00000	3.00000
Transfer to Daphne VLASTARI	2	1.00000	2.00000
Transfer to Gordon KEENAN	4	0.07361	0.29444
Transfer to David Tam MCDONALD	2	0.07361	0.14722
No further preference	10	1.00000	10.00000
No further preference	1	0.07361	0.07361
Not transferred due to rounding			0.00000
	Total		57.51527

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Daphne VLASTARI

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kate CAMPBELL	16	1.00000	16.00000
Transfer to Gerald EDWARDS	5	1.00000	5.00000
Transfer to Gordon KEENAN	35	1.00000	35.00000
Transfer to David MACDONALD	23	1.00000	23.00000
Transfer to David Tam MCDONALD	10	1.00000	10.00000
Transfer to Stewart MILLER	22	1.00000	22.00000
Transfer to Katie Victoria PRAGNELL	71	1.00000	71.00000
Transfer to Gordon KEENAN	1	0.07361	0.07361
Transfer to David MACDONALD	2	0.07361	0.14722
Transfer to David Tam MCDONALD	3	0.07361	0.22083
Transfer to Stewart MILLER	2	0.07361	0.14722
Transfer to Katie Victoria PRAGNELL	3	0.07361	0.22083
No further preference	23	1.00000	23.00000
Not transferred due to rounding			0.00000
	Total		205.80971

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Gerald EDWARDS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kate CAMPBELL	544	1.00000	544.00000
Transfer to Gordon KEENAN	7	1.00000	7.00000
Transfer to David MACDONALD	23	1.00000	23.00000
Transfer to David Tam MCDONALD	1	1.00000	1.00000
Transfer to Stewart MILLER	17	1.00000	17.00000
Transfer to Katie Victoria PRAGNELL	15	1.00000	15.00000
Transfer to Kate CAMPBELL	1	0.07361	0.07361
Transfer to Gordon KEENAN	2	0.07361	0.14722
Transfer to David Tam MCDONALD	1	0.07361	0.07361
No further preference	20	1.00000	20.00000
Not transferred due to rounding			0.00000
	Total		627.29444

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Kate CAMPBELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon KEENAN	65	0.12924	8.40060
Transfer to David MACDONALD	540	0.12924	69.78960
Transfer to David Tam MCDONALD	25	0.12924	3.23100
Transfer to Stewart MILLER	348	0.12924	44.97552
Transfer to Katie Victoria PRAGNELL	421	0.12924	54.41004
Transfer to David Tam MCDONALD	1	0.00951	0.00951
Transfer to Stewart MILLER	2	0.00951	0.01902
No further preference	855	0.12924	110.50020
No further preference	2	0.00951	0.01902
Not transferred due to rounding			0.01354
	Total		291.36805

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Stewart MILLER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon KEENAN	50	1.00000	50.00000
Transfer to David MACDONALD	311	1.00000	311.00000
Transfer to David Tam MCDONALD	27	1.00000	27.00000
Transfer to Katie Victoria PRAGNELL	106	1.00000	106.00000
Transfer to Gordon KEENAN	5	0.12924	0.64620
Transfer to David MACDONALD	122	0.12924	15.76728
Transfer to David Tam MCDONALD	1	0.12924	0.12924
Transfer to Katie Victoria PRAGNELL	30	0.12924	3.87720
Transfer to Gordon KEENAN	6	0.07361	0.44166
Transfer to David MACDONALD	2	0.07361	0.14722
Transfer to David Tam MCDONALD	9	0.07361	0.66249
Transfer to Katie Victoria PRAGNELL	8	0.07361	0.58888
Transfer to David Tam MCDONALD	1	0.00951	0.00951
No further preference	177	1.00000	177.00000
No further preference	190	0.12924	24.55560
No further preference	4	0.07361	0.29444
No further preference	1	0.00951	0.00951
Not transferred due to rounding			0.00000
	Total		718.12923

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Gordon KEENAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David MACDONALD	145	1.00000	145.00000
Transfer to David Tam MCDONALD	324	1.00000	324.00000
Transfer to Katie Victoria PRAGNELL	204	1.00000	204.00000
Transfer to David MACDONALD	17	0.12924	2.19708
Transfer to David Tam MCDONALD	3	0.12924	0.38772
Transfer to Katie Victoria PRAGNELL	12	0.12924	1.55088
Transfer to David MACDONALD	29	0.07361	2.13469
Transfer to David Tam MCDONALD	186	0.07361	13.69146
Transfer to Katie Victoria PRAGNELL	27	0.07361	1.98747
No further preference	144	1.00000	144.00000
No further preference	38	0.12924	4.91112
No further preference	40	0.07361	2.94440
Not transferred due to rounding			0.00000
	Total		846.80482